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Rewriting Multiplication Problems (visual) Name:
Write each array as a multipication problem and solve. Answers
oo 1) 000000000 D) A kA
oo 000000000 T A A A KK
oo R R R R Ex.
oo AR g g N
oo
1.
2,
3.
4.
Q00000 Jy ## XS 5) V9999999
Q00000 HHAANN AW VAVEVEVAVRAVAVRV)
Q00000 VOO VAVEVEVAVRAVAVRV) 5.
Q00000 VOO VAVEVEVAVAVAVRV)
leXeRoXeXoXeXe)] VAV AV 4V 4 \VAVAVAVAVAVAVAV]
oXoXeXeRoRoRe) VEVEVEVAVAVAVRV) 6.
VAVEVEVAVAVAVRV)
VAVEVEVAVAVAVRV)
VAVEVEVRVEAVRVRY) 7
VAVEVEVAVRAVAVRV)
8.
9.
XXXXX 7) AAAA 8)((((((((((
XX XXX AAAA cCqac
XX XXX AAAA cCaqac 10.
XX XXX AAAA cCaqac
XX XXX AAAA cCaqac
XX XXX AAAA cCaqac 11,
XX XXX AAAA
XX XXX AAAA
X X XXX AAAA
XX XXX AAAA
OO0 OOO 10) ©90909009090 11) ©99
OO0 OOO 000000 OO0
000000 N
000000 N
000000 0O
OO0 OOO 0O
OO0 OO0
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Rewriting Multiplication Problems (visual) Name. Answer Key
Write each array as a multipication problem and solve. Answers
a)DD 1)ooooooooo Z)ﬁﬁﬁﬁﬁﬁ
oo O0000000O0 TRA AN
oo R I I R IR Ex.
OO KRN
OO
1 29=18
2. 4eb=24
3. 6e7=42
4. 59=45
3)ooooooo Jy # XA A 5y V9999999
0000000 VYD IIDIIE (VAVEVEVEVEvEvRV)
Q000000 VDI (VAVEVEVEVEVAvVEV, 5. 10+ 8=80
0000000 VYD IIIIIE (VAVEVEVEvAvEvRV)
[oNoRoRoRORORG] VDY (VAVAVAVAVAVAVAV/
O00000Q \VAVAVAVEVAVAVAV 6. 10 5=50
(VAVEVEVEVEVEvVEV)
(VAVEVEVEVEVEvVEV)
(VAVEVEVEVEVEvEV] 7 10+ 4 =40
(VAVEVEVEvEvEvRV)
8. 65=30
0. 2¢6=12
XXXXX AAAA e«
6)xxxxx 7) AAAA 8)<(<(<(<(<(
XXX XX AAAA CCCCC 10. 7e7=49
XX XXX AAAA K
XX XXX AAAA K
XRXXXX AAAA CCaa« 11, 6¢3=18
XXX XX AAAA
XXXXX AAAA
XXXXX AAAA
XXXXX AAAA
OO0 OOV OOO OO0
9)000000 m)ooooooo u)ooo
OO0V OOO 000
OO0V OOO 000
OO0V OOO 00O
COO0O0OOO 00O
CO0OV0OOOO
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